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Ques 5. ANS (C) Solution: 3R, 3G YT HRT e &b
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Ques 6. ANS (B) Solution:
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Ques 7. ANS (B) Solution:
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Ques 11. ANS (C) Solution:
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Ques 12. ANS (D) Solution:
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Ques 13. ANS (C) Solution:
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Ques 16. ANS (D) Solution:
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Ques 17. ANS (B) Solution:
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Ques 18. ANS (C) Solution:
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Ques 20. ANS (D) Solution:
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Ques 21. ANS (C) Solution:
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Ques 22. ANS (B) Solution:
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Ques 23. ANS (A) Solution:
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Ques 25. ANS (A) Solution:
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Ques 26. ANS (C) Solution:
Ty 3P & UFAET Bl IR 3P () BT Ufdey TR B4
Ques 27. ANS (C) Solution:
T 3MPTa IR 3Bl (o) & AR =1

Ques 28. ANS (D) Solution:

U9 SHTHTA BT U Tl IR MBI (d) ST

Fre- guur ufafara & snefa 9 & g U9 <@ & S8 § uRadd
GBI

Ques 29. ANS (A) Solution:
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Ques 30. ANS (D) Solution:
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The squares are:
CUl .
ABCD ; AEQH ; EBFQ ; HQGD:
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Ques 31. ANS (C) Solution:
Sifaa ¥ anfifes & oY fi= wrl & sfer T 8-
(1) UTUTA & - 398 BN, DT, RIUTeH, HeRiuTer,
AYHRIT e, T T @ TS 3T 7
(2) i &= - s IEnT o it I, FHueT 3T,
fafmfor anfg ema &1
(3) T & - U AT &F Healdl & | 5HH afcbT i uRas,
AR, SRM TGN, Hid Yex H BRI HRAT 31 | 3H:
faPed (¢ ) HYHRY UTeH IR & S=id 3 g1
Ques 32. ANS (A) Solution: RIEICECLERIE (1992-97)
STYRYT &t R §d &+ & U H RO §iF S&g, AeR Alsd
TR 3yTRa ot 39 g 8 gt fderarars Tarl & IR &
&Y H 74 fadbrg $1 Ayl & T Td 9 A1 BT g8
I YT ‘{4 GH1eH BT fdbr | erded & o siadl deasia
IS & SR 8 YR 1 SRt 1995 B 3% SR 16 &7
T & 11
Ques 33. ANS (C) Solution: 9! Ts HeH arif® td farR®
q GBI ST SHaT 7 1712 3. T 83T 4! Ao T B
Yoo § Tefdd B 1 T &1 HY ¢ fb T-d W ST AT §,
W g T Siol} & Slepel @l 81" T B URieg 1 8-
(1) T iz Biede, 1762 (2) AT (3) T SCigaTH €
gifcifcad ThHIE, 17581
Ques 34. ANS (B) Solution: 3R¥ BT HYU UT fob T 33T
AR TP 33T I8 TN § 3IR R ARG T §RT I
A1 81" WA § b 3R Th URIG A RIS qur wiet
& R iR Ridher & TE U1 3RE Bt TG A 1
gfifea 81 3R A URAR &I 'Whfde ToT AT |




Ques 35. ANS (B) Solution: YR Ifae™ & &F;[%_CI 106 &
3TIR TG & YAS T & TSR & ad- 3R 4 &1 FAgRor
TG BN | eaTaed § b TUe BT U g oH & forg fameht
MRS B1- URA BT ARTRSD BT AMGY | I JHT B FGRdl
¥ forg 30 o oY oy wd s T & g 25 I @Y 31g T BT
IeT| 3P ATARST ITb U VI 3= 3fgd1d giH1 IMMRT S
Tgg gRT AR T B

Ques 36. ANS (B) Solution: =it IE Gii-a91 518 5. & YRd
3T 3R I 37T i auf bt = H dieg I ! et ure
D11 wae ¢ b wifgaH, o= aur i oft <+t anht
TSI+ YR 1 A= B | BRI, T fedid TashHTGd
(375-415 %) P TRER | 37| AT gYaY & UG BT |
(629%. P THI) HR AT AT

Ques 37. ANS (C) Solution: 3fIG=qgx fR1&T = fagR o
ARG UTI $ fIgHI & TIAR quTel 7 eaqdt (FER) &
URYE Sig 7S BT AT Bam uT| e § & Saurd ush
T SIS UT| Y TRAT T TRAGNTS el T B

Ques 38. ANS (A) Solution: GFH (G.HRA) § eWIG fo
TS & A BId & i~ el & 13478, & g9 T AHS
TRGR A SHATSEH g IgHH M B SUMY YRl Hh
RIgRAREG g3 3R IgH-T WTHTST &1 RITIT B | I T[T
B 3 TIGRITT T P IS ITT 3R BT H
SEYMIETG G| &7 § f 1425 3. 7 5] Ioiem diex 8
el

Ques 39. ANS (C) Solution: TS TRIBIS (1916-213.) P BT
T gt RIATHd - SRIGANT SMGIa &1 YB3Td g1 | $HP ANH
BT § "fed 3 IS 8- (1) 1919 BT Idie Tae TRk B 1)
13 310, 1919 3. P SIferITdTel SN SATBIVS (2) DAl
fayfaeera 1 Sifg & forg 1917 . & ISR w1 Fgfad|
Ques 40. ANS (D) Solution: TfOSdT XHTETs = 1881 & goT
S AT THS &Y RITTT o1 2| a9 1889 H THTETS A
fayaraft & forg TRET Yed &1 RITHHT B | IHTETS THIS It &
1@ T fags o o 3517 Ssfad &1 TRiat § erare foan |
Ques 41. ANS (A) Solution: G¥d-T-BHIfoR Ud Ged-U-gd gl
AR S | afRUd 81 S U. TR BT S 1 3 DI
T Sl A1t SHIEG §, S et Uad | fUd 81 e @
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Ques 42. ANS (A) Solution:

YHUR T o YR TR Gl &1 o IRl § fHTiord fosam
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frara +ft T ST 81 3BT HISTS 100 Km & 3! TR g1
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Ques 43. ANS (B) Solution: T Siid, 3ShIchT HETgId & o
SR 3 T 9t 2fia 81 A 3he 9 o Fia T Fpad
21 ol RediRar 3id o 3Pl TeTel &) ved 9 Shd B
39 i 7 FApadt g o fay & Ie9 dell 7 31

Ques 44. ANS (C) Solution: 12 TRaRT 2017 BT YR o 4T
U 2017 (ISER) TRY &1 TR B 1 3P 3id Ufarwrd & I
gafferes gTaRUT aTd IT HHRT: - AT 90.33%, FooiRy
86.27%, SHUSHI IR 1Y THE 81.73% - Note UY H fad
T fypedl & STAR b () Tt 1

Ques 45. ANS (D) Solution: 3{ddh-<l 3R YR} Afeai
ITRRIVS & &9 UGN & Adhe firaass 1m =1e} o1 fAmfor et
81 T 1S} 1 g el IRravs B fRyd e fguee g1

DI YT GERIS Aa! AT 399 alfe-1! 3R ¥ WM & Ade
firerclt 81 717 & ST e P IR WeTeh Al A, T,
TER], TTUSH, B! 7T HEHal ¢ | ITa-1d § o 3R eIy
HT Seel fay &1 gy 98T SeeT g

Ques 46. ANS (C) Solution:

HIRTd ol 3 faeet H THUTTE 596 AT AR Tie
AR & YRT & 784 YSHRER &7 119 T 3 Shud iz
TeT o R Siu=m wa i far|

Ques 47. ANS (B) Solution:

fog w20 e darwor (Nirmala Sitharaman) fag ad 2023-24
¥ forg 39T SIwie (Budget 2023-24) U HR IET €. fad Ht &
&Y # HART $T I FAR Uiadi §olC 5.

Finance Minister Nirmala Sitharaman is presenting her
budget for the financial year 2023-24. This is Sitharaman's
fifth consecutive budget as Finance Minister.

Ques 48. ANS (A) Solution:

faxt w3t fAeer TaRyor A F9ie 2023-24 F 7 TG UG Ag
— ARt faer, sifaw i de uge, g g sk o,
Finance Minister Nirmala Sitharaman listed 7 major priorities
of Budget 2023-24 — inclusive growth, reaching the last mile,
infrastructure and investment, unleashing potential, green
growth, youth and financial sector.

Ques 49. ANS (A) Solution:

HETA 3t ST da¥ 3t Hind Us g% (hadh) A gd
ATSUTY SABRY A IS B 3T T Herafed fgad
foan. Qi ura e A ol 85 &1 8 dufal § T Uel )R IE
b B. IEH ISUIH & a1e 1986 F 1IM Hercbel § MBA B
&%t giirer 1 .

The Federation of Indian Chambers of Commerce and
Industry (FICCI) appointed former IAS officer Shailesh Pathak
as its new Secretary General. Shailesh Pathak has held key
positions in many private sector companies. After graduation,
he obtained MBA degree from IIM Calcutta in 1986.

Ques 50. ANS (C) Solution: fleR T& #3eye f&arsy & it
HR W THSRI YT FR BT TR BT 8 | BT R
3fT3eYe B Ug Ufafel 1S St wean g1 Sic Aty fifer
1 U UPR ¢, T8 T 3rae fUIex § 3rc: g fifdw oea gva
I8d TR IR 8| 9 frer & file ¥ F smw Ol w1 0w
Ay 2T 7 3R ude o & R 3R dorvret R woef gfe
BT § 3P Sic HTPR T PYaex 91 5|

Ques 51. ANS (D) Solution: g TUGU IUDHU B
Ausxiliary Storage Divice Yl FgT STl § | T8 HHLR BT YT -Tgt
BT B | S IR H 37T I ST W1l B | T§ SUHRY Had
ufarar, T uRare T8t aR I g

Ques 52. ANS (B) Solution: 3MTYfids 3fad & T garaerr
& YR R dA! Pl IR GUS| T selicp H fauIford e mar g1
A8 -5, p d fs- s daf 19U 2P dcd, p sl J 7 -13
¥ 18 & dd YT UTg, JUYT TUT 3T, d- i H a1 3 9 12
& qd T f sl B ARARS 3R UfdeTge Il &f a1 TR gl
Ques 53. ANS (C) Solution: URT (Hg) &I feoeh Riear 1t gl
8| BT URHTY] AT 80 8| T8 Ui H SfeqdE § 9 U
A AT H IR ST B | SHbT HH 30%h RAaR 31 78
e g 3dd THBICN U1 B, S SR P 10 R 59 faeT
TN ST 81 31 st & fausdta ag A1 < sardafia ok A
B U= B14.12 Hfeds ad IR 39T foRlY I 81 ST |

Ques 54. ANS (C) Solution: QTFI?IFTE{CfUT i (Glass) CAR:IC]
HieTs &1 fa- USt & U R bl I I YIg ol URT a1




T} BT AY HRP dYT I¥PH SHWR RIedR A1Zee BT AU HIb
ST ST @ 1 S UepTe fhRuil &) 39 UR S bl 8- 3R
TRIGRIA R T ¥ | AT 4T Ufafavs o7 3R g0 faw
& SHMBR P F Il § | TAPT IUUNT TS, TgFUGRN
(Kaleidoscope) YT tIﬁﬂ"-\’ff(Persicope) I H forar S %I
Ques 55. ANS (C) Solution: U BIgIeT URHTY] BT STHH
T 3AILH &b SHM & 1837 AT giT 3| e § fob
BRSO Ueh 1T 3741 8| $HhT URHTY] hHTd 1 9 TRAT] YR
1,008 BT ¥ 1 T MAGIRUM BT T Ted ot et B 5B
e 7 Rt T We 3R T & a1eR R T sage
BT 81 I8 T A1 U1 Id © s =geiq &1 3rvma g |
S & waffres O § Sudsy dd gIgioH o ol
Ques 56. ANS (B) Solution:
yaTfed R dggd ol &1 IuanT fafls UeR & wrf e o
e S T, fagyd uRuy Hee g |
Ques 57. ANS (B) Solution: deTfH-C T faerfEm-B Hradeq
A ga-Rid 8| Safe faetE- A, D, E, K 391 & go=itd g
&1 § o faefF-C (e Thrs) &t @ie gauyd g2t
ot | 3BT HH Y Whdf ATHD AT &) ST 3| TS T Bl A
TG Y I U1 ST § - e, I, SHfaa e |
Ques 58. ANS (C) Solution: HT-d gad H P&l Pt Tw=AT 4 Bl
21 O Up-- F Uel gRI fAHIiTd 38 81 S <1 e (@) Sie
U9 Uqd 814 21 3% 31 (auricle) BT ST 31 3ifere 31 €1
3- g Sifere wd aat sifere | sifee & 4 & e -grt
frer quT ST Fierd €10 B 1 Ui Sifere auT 39 < & Mg
¥ o Ue 3% 811 & O siferar e wure (Atrio-
Vintricular Valve) %8d g1 3 ®UIE Had (ad &1 3R Gad g
Ques 59. ANS (A) Solution: I (Stomata) BT U ¥ Urelf B
ufrdl &1 &1l T (Epidermis) H U OTF a1 {5 81 U
IS T H si\(dmddn (Chloroplast), EAINEARR ] (Cellwall)
3R RFPT (Vacuole) SURRIA BId &1 TH (Stomata) BT I
HT ARV Y HIITSTZHTRIISS (CO.) TG FrAT 3R
SffeRitST (0) FepTerT 8 3rufd Y &7 ST -UeH &R |
Ques 60. ANS (A) Solution: Tfaifae a1 eI ® &I gega
Shareft garait (Antimicrobial Drugs) FIEY 'J-ﬁ\_rI'F-lTGﬂT‘IT%I
J Ut gardl gt & S Sharu[shl, o qut Miekssf gRT S
Tepruil o fafde & forg w1 ot 81 3 gamg A ar A
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TanTRITe o fawiid fbd ord 1 eraed § & dae! gRT Sad
gloifae! # AR ¢ S Usdl 1 T eI § o
SHIHR TAdIUSR TATERT = fasar o)
Ques 61. ANS (D) Solution: AT 3T STaRIDBT DI IXGS,
Y- HIoH, a8, Aha!, A TUT 3T AHEAS IAEH BT
3ifiep A 3ifiep e B & foT Urplaes qafarur &
AT HR-a5d FHRaT 38T 8 | Bekaed 8 U o
1 fmior € B, Rrd v i e e 21 3
yRfufae o & o fftfa oififae o #gd 81 39%
3GV §- M, T AR, TIfA-IeM i | STafds g
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Ques 62. ANS (C) Solution: S1d U (Af3d 3afy & ot &t |y
JGD! JuSTTT T HfAF S Sl § T S o I WIS T[T
F HRUT ITHT IUANT ST 81 51l g1 df I RS o ot et
o it 81 oTet b1 et & forg ITRardt € et & 9,
il S, STel HHIY] BT HUSE|
Ques 63. ANS (D) Solution:
T TATTI 2030 TP HI-dCR] 7 P fo1T Uid- St
TISHT B TURAT TIR B ¢ [T BT I FIA Yo &

HeOH A SHoll Bl WU DI HH BT 3R TdIHR0ig FHoif B
JUUNT ) ST B

The Ministry of Railways has outlined a five-pronged plan to
become carbon-neutral by 2030.The plan aims to reduce
energy consumption through efficient operations and
increase the use of renewable energy.

Ques 64. ANS (B) Solution:

e &4 $ o Uad TS Rie P (PSB) 1 dF & UGd! &
T P1-5i7S e TS wia B F foIT SBI HTS & Ty
BIECRIEI R

Public sector bank Punjab and Sind Bank (PSB) has partnered
with SBI Card to launch a co-branded credit card for the
customers of the bank.

Ques 65. ANS (A) Solution:

Union Minister of State for Fisheries, Pratap Chandra Sarangi
recently shared that the Indian Space Research Organisation
(ISRO) has developed the NavIC messaging system to put out
warning messages to Indian fishermen about cyclones,
tsunamis and high waves. The ISRO has also developed a
NavlC receiver.

NavIC TR JUITel YR faRel S8 W6+ (ISRO) §RI
AZSRY DY AT He=T UaIRd B & forg fEwme fovar man
 SimaTa fRUfY S o ashard, FAmt ofk St aigd | S¥Rr A off
famRid fadT & NaviC R Navic #RifSiT Ries & a1 38
17 AT, 2020 HI T fAfd srard § AleauT & 7o ITsd H,
Ty d AR GRT A1 fob T 7T T | $1$T ATe Her iR
313 SHIHTA RIeH (INCOIS) T8, AT 3R 3= el
& IR H Yferd Hd §U SATUTISTRN Iara-T Ta=i &I gaia
FA & T NavIiC TRfSRT Riked &1 ITd &=l 81 INCOIS
ST ST USRI BRI | (PF2) & IR H SR
THIRT B & o oft B B

Ques 66. ANS (C) Solution:

a5 e, 8k SAL TR 39 UiE iy gty art fag
B B Ao IR Q)

The Gujarat Council on Science and Technology, Gujarat
Council of Science City, and SAL Education are hosting this
five-day National Children's Science Congress.

Ques 67. ANS (C) Solution:

AYAT 3fgerad P 5 f3HeR, 2022 B <o Y oM i
ST 1 Sreges A1 T, WY B Yd A= e SHAR Al
HENId g T § 3R Ued ARG X! PIoTeae I U ¢ | g&id
TreTa TATw S & gd 3rege A

Meghna Ahlawat was elected as the President of Table
Tennis Federation of India on December 5, 2022, along with
former National Champion Kamlesh Mehta as General
Secretary and Patel Nagendra Reddy as Treasurer. Dushyant
Chautala was the former president of TTFI.

Ques 68. ANS (D) Solution:

gtaTE W hige HTS &I JUIE HR arall ToR I HRT BT Ugal
Uic eq o 71 B | 39 haH &1 I fefee Yia o 3R
HoTgd BRAT 3R HRd Bl ide HifieR) &l sgrar 31 2.
Razor Pay has become India's first payment gateway to
support credit cards on UPI. The move is aimed at further
strengthening digital payments and boosting credit
participation of India.

Ques 69. ANS (D) Solution:

HRA BT G20 AL & dgd Ugdl oil-20 SHRTPH fadta
YT BT TG B Ao AT B o1 & 8. 96 B




3IguTcd HiN Ud fbuM deamr 15 Hf R Rig R iR @@
TRIRGHRUT ST HAAT oft ujpufd $AR U A fosa |

The first G-20 International Financial Structure Working
Group meeting is being organized under the G20
chairmanship of India. The meeting was inaugurated by
Agriculture and Farmers Welfare Minister Shri Narendra
Singh Tomar and Food Processing Industries Minister Shri
Pashupati Kumar Paras.

Ques 70. ANS (C) Solution:

goitcis forde S & vt Seotarel & faferaes A e #
30 <=1 & T Faifdes I 9 aTd SeiaTst o 8. 35 I8
Iudfel 3ics & et g1kt &, fafergwa 4 $is &
EaTE oIRt g¥R X & oiicls &1 gukl IR & 132 1 &t Uk
AP T8 YT FIRI b,

New Zealand cricket team's inexperienced batsman Kane
Williamson has become the highest run-scorer for his
country in Tests. He achieved this feat against England.
Williamson achieved this position by playing an inning of 132
runs in New Zealand's second innings in the second Test
against England.

Ques 71. ANS (C) Solution:
Ton s #ge a = 5200 x
Hfgen FHar #1 F@ 37 = 4200y
g¥ g,
5200x + 4200y = 5000 (x + y)
=x + y = 100 (&) ... (iii)

(i) + (ii) 9,
2x-8y=0 ... i)
x +y=100 x 8 ...(ii)
2x-8y =0
8x+ 8y = 800
10x =800
10x = 800
x=80,y=20

Ques 72. ANS (B) Solution:
m?m=6000m.{mmmmu—,(
1

94
45
w8, 6000 x 1—0—0+x = 6000
2700 + x = 6000

x = 3300
Ques 73. ANS (B) Solution:
11 : 5 '
15 - 7
{11 x 15} : (5 x 15): {5 x 7)
B T daem aqun = 11 x 155 x 7
=33:7

Ques 74. ANS (A) Solution:

22— 23 — {24 — (27 + 1)}]
=22 —[23 — {24 — 28}]
=22-23+4]=22-27T=-5
Ques 75. ANS (C) Solution:

%% "2

.. 6x+5x 33

= “—30 =7
1x _ 33

e 30 2

33x30

= T

Ques 76. ANS (B) Solution:
S __B

o

D E C

d;-12 cm

dy - 16 cm

FHEYH # & = %dldz

= %x12x16 =96 cm
77 fagai #) e At s § (EFGH) &1 &
_ T w8
B 2
96
- i 2
2 48 cm
Ques 77. ANS (A) Solution:
A

- =J576+49 =25
wE F P 72 W e = ar (1+1)

-2

7

=¥x7x32=704

=6a?
=6 x 152

x7%(25+7)

we F F1 Fo =1350 +704
= 2054 cm?

Ques 78. ANS (A) Solution:

2
100 +r
= =7840
6250 ( 100 )

(100 + )
= 6250 " 10012
= 6250 (100 + r) = 78400000

(100 + 2) = —-——784‘;’2‘518000

(100 + r)2 = 12544
100 + r =112
r=12

Ques 79. ANS (D) Solution:

= 7840




_ fo0x 100

~ 100 + w9%

_ 689x100  689x100

= 7100+6 106 990

Ques 80. ANS (B) Solution:
Hox Hox T
100

_1640x7.5x6
~ 100
_1640x7.5x6 _ 73800
~100x10 100

Ques 81. ANS (A) Solution:
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Ques 83. ANS (A) Solution:
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Ques 84. ANS (B) Solution:
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Ques 85. ANS (C) Solution:
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Ques 86. ANS (C) Solution:
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Ques 87. ANS (C) Solution:
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Ques 88. ANS (B) Solution:
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Ques 89. ANS (A) Solution:
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Ques 91. ANS (B) Solution:
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Ques 92. ANS (B) Solution:
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Ques 93. ANS (B) Solution:
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Ques 94. ANS (A) Solution:
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Ques 95. ANS (A) Solution:
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Ques 96. ANS (A) Solution:
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Ques 97. ANS (C) Solution:
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Ques 98. ANS (C) Solution:
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Ques 99. ANS (A) Solution:
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Ques 100. ANS (B)
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